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Question 1  
1.1  

 
 

(8) 

1.2 33 (3) 
   
1.3 

𝑃𝑃(𝑋𝑋 ≥ 3) =
4 + 6 + 5 + 1

80
=

16
80

= 0,2 (5) 

  
  
Question 2  
2.1 𝑃𝑃(𝐴𝐴 ∪ 𝐵𝐵) = 𝑃𝑃(𝐴𝐴) + 𝑃𝑃(𝐵𝐵)− 𝑃𝑃(𝐴𝐴 ∩ 𝐵𝐵) 

 
0,7 = 0,4 + 𝑥𝑥 − 0,4𝑥𝑥 

 
0,6𝑥𝑥 = 0,3 

 
𝑥𝑥 = 0,5 

 

(4) 

   
2.2 

𝑃𝑃(𝐸𝐸|𝐹𝐹) =
𝑃𝑃(𝐸𝐸 ∩ 𝐹𝐹)
𝑃𝑃(𝐹𝐹)  

 

0,2 =
𝑃𝑃(𝐸𝐸 ∩ 𝐹𝐹)

0,6
 

 
𝑃𝑃(𝐸𝐸 ∩ 𝐹𝐹) = 0,12 

 
𝑃𝑃(𝐸𝐸) = 0,8 − 0,6 + 0,12 = 0,32 

(4) 

   



Question 3  
3.1 𝑛𝑛(𝑆𝑆) = 8! = 40320 (4) 
   
3.2 

𝑃𝑃(𝑋𝑋) =
4! × (2!)4

8!
=

1
105

= 0,0095 
(4) 

   
3.3 𝑃𝑃(𝑋𝑋) =

4! × 4!
8!

=
1

70
= 0,0143 (4) 

   
   
   
Question 4  
   
4.1 

𝑃𝑃(𝑋𝑋) =
�5

3� �
7
2�

12
5

= 0,2652 
(6) 

   
4.2 𝑃𝑃(𝑋𝑋 = 7) = �10

7 �
(0,7)7(0,3)3 = 0,2668 (5) 

   
4.3 (a) 

𝑛𝑛(𝑋𝑋) =
5!

2! × 2!
+

2 × 5! 
2! × 3!

= 50 (6) 
   
4.3 (b) 𝑛𝑛(𝑠𝑠) = 5 × 2 + 2 = 12 (6) 
   
   

 
Question 5  
5.1 𝑟𝑟 = −0,9179      𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆𝑆 𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛𝑛 (3) 
   
5.2 𝑎𝑎 = 15,39 

 
𝑏𝑏 = 0,00002789 

 
𝑦𝑦 = 15,39 − 0,000028 

 

(3) 

   
5.3 15 = 15.39 − 0,000028𝑥𝑥 

 
𝑥𝑥 = 13983 = 14000 

(3) 

   
   
   

  



Question 6  
6.1 13

80
=

20
𝑥𝑥

 
 
 

𝑥𝑥 = 123 

(3) 

   
6.2 

𝑃𝑃(𝑋𝑋 = 0) =
�20

0 � �
100
10 �

�120
10 �

 

 
= 0,1491 

(5) 

   
6.3 𝑃𝑃(𝑋𝑋 ≥ 2) = 1 − �15

0 �
(20%)0(80%)15 − �15

1 �
(20%)1(80%)14 

 
= 0,8329 

(6) 

   
Question 7  
   
7.1 𝑃𝑃(𝑥𝑥) =

1
6
 (4) 

   
7.2 𝑃𝑃(𝑥𝑥) = 0 (2) 
   
   
Question 8  
 

 

 

   
8.1 𝑃𝑃(𝑥𝑥) = 0,8 + (0,15)(0,9) = 0,9350 (4) 
   
8.2 𝑃𝑃(𝑥𝑥) = (0,8)(0,8) + (0,8)(0,15)(0,9) + (0,15)(0,9)(0,8) + (0,15)(0,9)(0,15)(0,7) 

 
= 0,8702 

(8) 

 


